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GCSE Mathematics (Linear) 2540
Formulae: Foundation Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

e —|
Area of trapezium = 1(a+ )i }f—l

e b >

Cross
Volume of prism = area of cross section x length
/ o
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blank
Answer ALL TWENTY SIX questions.
Write your answers in the spaces provided.
You must write down all stages in your working.
You must NOT use a calculator. .
1. Jessica asked some students to tell her their favourite pet.
She used the information to draw this bar chart.
12.
11-
10
9 -
8
Number 7 -
of students ¢ |
5 - -
2 ‘
e :(.
1 -
0 - o 3 5 - R i
Cat Dog
Favourite pet
(a) How many students said a rabbit? 3
(1)
(b) Which pet did most students say?
Cak
1)
(c) Work out the number of students that Jessica asked.
lO+e +3 + 2+ | 29
o QA
(Total 3 marks) —}

N A0 A0 Y0 0
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Leave

blank
2. (a) Write the number nine thousand, three hundred and seventy four in figures.
A%
@
(b) Write the number 62 500 in words.
d0ten Ewo trousand fve headved
(1)
(c) Write down the value of the 8 in the number 3285
R0 (8) +ens
(1)
(d) Write the number 2174 to the nearest hundred.
2200
)
(e) Write the number 7362 to the nearest thousand.
7000
1 Q2

(Total 5 marks) 'ql
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Leave )
blank

3. (a) Measure the length of the line AB.
Give your answer in centimetres.

(b) Mark the midpoint of the line 4B with a cross (x).

(¢) In the space below, draw accurately a circle of radius 4cm.
Use the point C as the centre of your circle.

1 Q3
(Total 3 marks) T
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o
o 1 2 3 4 5 6 «x

(a) (1) Write down the coordinates of point 4.

(i1) Write down the coordinates of point B.

(b) On the grid, mark with a cross (x) the point (5, 2).
Label this point C.

..........................

(1)

Leave )
blank

_ R

5. (a) Write down a sensible metric unit for measuring

- (1) the distance from London to Paris,

(ii) the amount of water in a swimming pool.

(b) (1) Change 5 centimetres to millimetres.
lewe = LOwanA

(ii) Change 4000 grams to kilograms.

“OOOS = %Kﬁ

K
Lo
@
SO
..................... mm

(Total 4 marks)
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Leave 3
blank
6. Here is a list of 8 numbers.

3 5 6 8 9 10 11 16
From the list, write down

(a) two odd numbers,
O\WJ) Cwo frowa 2

3,5 AW (1)

(b) two numbers with a sum of 15

6,4 o~ S, ©

(¢) afactor of 12

G\V\D{MAM 3|G 3

...........................

(d) amultipleof4

S v V& P

James says that 10 is a square number because 52 = 10

(e) James is wrong.
Explain why.

.......................................................................................................................................

.......................................................................................................................................

(Total 5 marks) »‘]

&
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Leave )
blank

7, .
Y
| \ g -

(a) Write down the special name for this quadrilateral.

(b} Measure the size of the angle marked x.

(c) Write down the special name for the angle marked y.

.................................

(Total 3 marks) ’_—}
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Leave |
blank
8. Here are some patterns made from squares.
Pattern number 1 Pattern number 2 Pattern number 3
(a) The diagram below shows part of Pattern number 4
Complete the diagram for Pattern number 4
Pattern number 4
(1)
(b) Complete the table.
Patterﬁ number 1 2 3 4 5
Number of squares 5 9 13 17 20
)
- (¢) Find the number of squares used for Pattern number 10
N (D Q%
(Total 3 marks) |
S o 3 17 20 2$ 24 33 37@
J
[0t |
9
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Gift shop
Price list

Keyring  £3.20
Hat £3.99
Pencil case £2.70
Ruler 45p
Pen 60p

Keith buys 3 pens. (i

(a) Work out the total cost.

R xG0p Y

Tl

iy

Simon buys a pencil case, a ruler and a pen.
He pays with a £5 note.

(b) Work out how much change he should get.

is—lw = £32

The gift shop also sells pencils.
The price of a pencil is % of the price of a pen.

(¢c) Work out the price of a pencil.

2 60 = 2x20

3
(/3 of 60 :'va

---------------------------

@
£ 320) ......
3)

A0
........................... p
@)

(Total 7 marks)

Leave h
blank
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10. (a) On the diagram below, shade one square so that the shape has exactly one line of
symmetry. .
'
: - ()
W .
(b) On the diagram below, shade one square so that the shape has rotational symmetry of
order 2
(1 Q10

(Total 2 marks)

11. Ben is » years old.
Colin is three years younger than Ben.

(a) Write down an expression, in terms of », for Colin’s age.

...........................

Daniel is twice as old as Ben.

(b) Write down an expression, in terms of », for Daniel’s age.

...........................

2NN Nk o 2xN 1 QU
' SRR (Total 2 marks) - -}
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12, Here is a rectangle.

e

10 cm

Diagram NOT
tu accurately drawn

20cm

(a) Work out the perimeter of the rectangle.

1O +720 + LO%20

(b) Work out the area of the rectangle.

[0 <2

<O
........................... Citi
@
260 )
........................... cm
@

-
Leave
blank

Q12

13. (a) Work out

(b) Work out

(c) Work out

2x (11 +9)
220

3x5+4

—————

3xsS =18 S v =14

20-5x3

i —gy

20 = (s%3\
20 - \S

30
)

19
)
........ S
)

(Total 3 marks)
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Leave )
blank
14. p=5
r=2
(a) Work out the value of  4p + 3r
43”3:‘_4&\0 = 4’<S =S 1S 6
Ay = 3=y =3t e 2\
o 2)
7 is an even number.
(b) What type of number is » + 17
ood
1) Q4

_J

(Total 3 marks)

15. :
Diagram NOT
, accurately drawn
4 120°,°50° B

AB is a straight line.

Explain why. | )
AN \LS oW a Sbmx:)\/\k‘ lwme = V%0

...................................................................................................... (1)
Diagram NOT
accurately drawn

(b) Work out the size of the angle marked x.
120 4160 4110 + X = 360
' 3GV 4= =0 QD(/
~ =&l S e— (2 L o1

(Total 3 marks) "}
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16. The table shows some information about the medals won by each of 6 countries at the
2004 Olympic Games.

Medals
Country Gold Silver Bronze Total
United States 35 39 29 103
Russia 27 27 @ ‘‘‘‘‘ °\ 2, _____
Australia 17 16 | | 6 49
Germany 14 16 18 48
Ttaly 11 11 32
Great Britain 9 9 12 30

(a) Complete the table for Russia and Australia.

(b) How many bronze medals diwin‘?

2

...........................

(¢) Which country won 10 gold medals?

--------------------------------

(Great Britain won a total of 30 medals.

(d) Work out the fraction of these medals which were silver.
Give your fraction in its simplest form.

4 3

—
—— ©pm———

Lo

FEENEL S A

30

...........................

4%

(e) Find the ratio of the total number of medals won by Germany
to the total number of medals won by Italy. 372
Give your ratio in its simplest form.

4%.32
24 .16 e
B ¢4 2)
6 -4

(Total 8 marks)

"
Leave
blank
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Leave |
blank
17. A tin of cat food costs 40p.

A shop has a special offer on the cat food.

Special offer

Pay for 2 tins and get 1 tin free

Y O

Julie wants 12 tins of cat food. '.

(a) ‘Work out how much she pays.

noeds o buwy 8 finy (el 4 smdney hekf

{,,“Lj_, - & WQL
e 30
(3)
9 of the 12 tins are tuna.
(b) Write 9 out of 12 as a percentage. .
a4 - 3/' =
L1 “ 5w
S 2)

The normal price of a cat basket is £20
In a sale, the price of the cat bagket is reduced by 15%.

(¢) Work out the sale price of the cat basket.

O/ o 20=2
5/. 4 0=}
154 =3

20-3 =\1 N
3y Q17
(Total 8 marks) ’_}

A
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18. The table gives information about the drinks sold in a café one day.

Drink Frequency Size of angle
Hot chocolate 20 80°
Soup 15 6o
Coffee 25 1006
Tea 30 120
Complete the pie chart to show this infor%g)tion. 360

’{’-W AL

Hot chocolate

{Total 3 marks)

Leave b
blank

dividL 360
20 3

hwt Mul/
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Leave |
blank
19. (a) Simplify 5bc + 2be — 4bc
Shet2be = We
MWe-4be =z e 3lr(_, .............
(1)
(b) Simplify 4x +3y—2x + 2y
Lol & G- W
E R 3wy
2% + 5w
(c) Simplify m X X m
m?3 ;
(d) Simplify 3n%2p AW Vv
S
(1)
(e) Factorise Sm-+ 10
wAt 2
5 ( ) S/ watry
j
(Total 6 marks) j
N/
Sxwa + Sx2
S x (M "I”L\
Y (W\\— 2\
17
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20. Here are six temperature/time graphs.

4

h

A
temperature
°C
o time
-~
C
temperature
°C
o time
A
E
temperafure
°C
0 time

A
: B
temperature
°C
‘O time
A
D
temperature
°C
o time
A
F
temperature
°C
0 time

Fach sentence in the table describes one of the graphs.
Write the letter of the correct graph next to each sentence.

The first one has been done for you.

The temperature starts at 0°C and keeps rising.

The temperature stays the same for a time and then falls.

The temperature rises and then falls quickly.

The temperature is always the same.

The temperature rises, stays the same for a time and then falls.

The temperature rises, stays the same for a time and then rises again.

MM IP T | =

(Total 3 marks)

Leave )
blank
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Leave |
blank
21. The diagram represents a solid made from 5 identical cubes.
\ .
/
A
On the grid below, draw the view of the solid from direction 4.
%
8
‘2 l
\ t
3
Q21
now lbers. nor waeded o n
'_ (Total 2 marks) |
3 (VRN M o\/\ \V\) "
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22. ¥

&
S

(a) Reflect shape A in the y axis.
@)

{b) Describe fully the single transformation which takes shape A to shape B.

....................................................................................................................................

7 1 A &)

, l ' (Total S marks)

Leave )
biank

Q22

i

23. Sidra and Gemma share £48 in the ratio 5:3

Work out how much more money Sidra gets than Gemma gets.

StI =%

4 -_1:% - & (met:é)
S«<e= 30 S pavd
3x 6 = Ig 3 past>

30 -1 A

(Total 3 marks)

g
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blank
24. Naomi wants to find out how often adults go to the cinema.

She uses this question on a questionnaire.

“How many times do you go to the cinema?”

Not very often Sometimes Alot

(a) Write down two things wrong with this question. :

1 AoesS wnot Sa A A 2K o't

..................................................................................................................................
...................................................................................................................................
..................................................................................................................................

O-2 3-4 St A esepnian

.......................................................................................................................................

Wla V\Mb (U ANY )

(b} Design a better question for her questionnaire to find out how often adults go to the
cinema.
You should include some response boxes.

Now waanwn, tamasn dlo ou go w he_
CAMLQAN LAAACA. WA L vhowt Y)W\Khd‘\

vy [\
o—2 | |
z-s |
G ove T

) Q24

(Total 4 marks) |
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blank

25. Use ruler and compasses to construct the bisector of angle ABC.
You must show all your construction lines.

Q25

(Total 2 marks) ﬁ‘]
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2.

Diagram NOT
accurately drawn

2x x + 30

The diagram shows a triangle.
The sizes of the angles, in degrees, are

3x
2x
x -+ 30

Work out the value of x.
@MS\LB oadch vp W \€L
o ¥ X XA B0 2D
61 130 oI

Leave )
blank

G <= 1S
~ < \SC = 2S5
< 25 s
. (Total 3 marks) 1
25 TOTAL FOR PAPER: 100 MARKS |
-—"'"";""’“'“""
b |ISv END
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